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6��5RVDULR�H�&HOHEUD]LRQH�(XFDULVWLFD�LQ�GLUHWWD�VWUHDPLQJ� 
FDQDOH�<RX7XEH�605RVDULR�79 

WXWWH�OH�VHUH�RUH������ 
,VFULYLWL�DO�QRVWUR�FDQDOH� 

SHU�VHJXLUH�WXWWH�OH�FHOHEUD]LRQL�LQ�GLUHWWD�H�SUHJDUH�FRQ�QRL 

Domenica 17 �D�',�3$648$�-�/LW��RUH��D�VHWW�� 
$W����-����-����6DO������3W�����-����*Y�������-�� 
$FFODPDWH�'LR��YRL�WXWWL�GHOOD�WHUUD 
'()��*,86(33(��0$5,$��0,&+(/(�(�*5$=,$ 
'()��1,&2/$�(�0$5,$ 
'()��3��/(21$5'2��0,&+(/(��7(5(6$�(�526$5,2 

Lunedì 18 6��*LRYDQQL�–�PHPRULD�IDFROWDWLYD�-�$W������-����6DO������*Y������-����D 
,O�6LJQRUH�DPD�LO�VXR�SRSROR 
�����,1�21��6��(/(1$ 
������$)),/,$7,��%(1()$7725,�(�0$'5,1(�20'�9,9,�(�'()� 

'()��3$648$/( 

Martedì 19 $W������-����6DO������*Y�����-�� 
/D�WXD�GHVWUD�PL�VDOYD��6LJQRUH 

�����'()��$11$�(�6$%,12 
������'()��*,86(33(�(�&/(/,$ 

Mercoledì 20 6��%HUQDUGLQR�GD�6LHQD�–�PHP��IDF��-�$W���������-������6DO������*Y������-�� 
,�FLHOL�H�OD�WHUUD�VRQR�SLHQL�GHOOD�WXD�JORULD 
�����'()��*,86(33( 
������'()��6,021( 

Giovedì 21 6��&ULVWRIRUR�0DJDOODQHV�–�PHP��IDF��-�$W�����-���6DO�����*Y������-�� 
,O�6LJQRUH�KD�ULYHODWR�DL�SRSROL�OD�VXD�JLXVWL]LD 

�����'()��(0$18(/(�(�1,&2/$ 
������'()��58**,(52��75,*(6,02� 

&(1$&2/2�0$5,$12 
Venerdì 22 6��5LWD�GD�&DVFLD�–�PHPRULD�IDFROWDWLYD�-�$W�����-����6DO�����*Y������-��D 

'LR�ª�UH�GL�WXWWD�OD�WHUUD 
�����'()�� 
������'()���$*$7$�(�*,86(33( 

Sabato 23 $W������-����6DO�����*Y������E-�� 
'LR�ª�UH�GL�WXWWD�OD�WHUUD 
�����'()�� 
������'()�� 
������352�3238/2 

Domenica 24 $6&(16,21(�'(/�6,*125(�-�6ROHQQLW¢�-�/LW��RUH�SURSULD 
 $W����-����6DO�����(I�����-����0F������-�� 
$VFHQGH�LO�6LJQRUH�WUD�FDQWL�GL�JLRLD 
�����'()��*,86(33(��/8,*,$�(�%(51$5'2 
������'()��0$5,$��'(2'$7$��9,72�(�$''2/25$7$ 
������'()� 


